1. Let a and b be two vectors in R3. Expand the following expression and simplify it as much

as possible.
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2. Sketch a x b in the following diagram, where a and b are in the (y,z)-plane.
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3. Evaluate (2,1,—1) x (1,0,3).
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4. Find the equation of the plane that passes through the point P(—1,3,2) and is parallel to the
vectorsa=2i—kandb=1-2j.
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5. For each of the following statements about vectors a, b, and ¢ in R3, determine whether it is
always, sometimes or never true.
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(d) Suppose a,b, ¢ is an orthonormal basis of R3. Thena x b =c.




